Power Block

Power can be supplied individually to 8 power

supply systems using up to 4 power blocks.

M Different areas on the same manifold can be controlled by

separate-system power supplies.

M Contributes to the reduction of installation space Double solenoid valve:
16 stations (32 points)
ower supply Powersu[l)ply

system 7 system 8
00000 0000000

|Powersupp|y Power supply ~ Power supply Power supply  Power supply Power s
S S

system 1 system 2 system 3 system 4 system 5 systel

upply P
m 6

| Power Block |

‘@ | (] l
ML e i I i o O I e e
I:] | :-'- R ] 1 1 .-. T :
: P TR oo Lt o o e et :
e|c L= o= ek i 1 1 1 "

Separate
power supply 1
Separate
power supply 2
Separate
power supply 3
Separate
power supply 4

4

AL [Outputs| O to 3 (PWR1)  [Outputs| 4 to 7 (PWR2|) \
[Outputs] 8 to 11 (PWR1) 12 to 15 (PWR2)

16 to 19 (PWR1) 20 to 23 (PWR2)
[outputs] 24 to 27 (PWR1) 28 to 31 (PWR2)

B Maximum number of outputs: 32 B IP67 compliant (Manifold assembly)
W Applicable valves: JSY, SY, VQC, S0700, SV

~N

AV TLIEU RS EITIERSI For controlling the robot and the operator with separate-system power supplies

S Power supply for the robot area side

power supply 1

POWEN  POWIR

Cwa T

Robot area side
Separate
power supply 1 = ON S| it
uni

N Sy | = | > .
Operator area side .
Separate
power supply 2 = OFF Separate i
s PtseieaPY Power supply for the operator area side
= J

EX9-PE1-X15/X22/X23/X24 & S\VC

18-EU697-UK

N



EX9-PE1-X15/X22/X23/X24

. CO m b | n atl on Of POWer B | ocC kS 1 station |2 stations|3 stations|4 stations
X15 | X22 X23 | X24

m 0to 7 (Separate power supply 1)

|

il

4
Sl unit X15

. m 0to 7 (Separate power supply 1), 8 to 15 (Separate power supply 2)
stations

l ile ’Ir_‘ ----- . .
.0 | s

1

11
ot
X15
Sl unit X22

0to 7 (Separate power supply 1), 8 to 15 (Separate power supply 2), 16 to 23 (Separate power supply 3)
stations

LR
Sl unit

statlon

. 0to 7 (Separate power supply 1), 8 to 15 (Separate power supply 2), 16 to 23 (Separate power supply 3), 24 to 31 (Separate power supply 4)
stations

8 e e L

The arrangement is numbered starting with the 1st station on the Sl unit side.

1 Z;SVC




GTIE Power Block EX9- P El'X15/X22/X23/X24

Specifications

Model

EX9-PE1-X15

EX9-PE1-X22

| EX9-PE1-X23 |

EX9-PE1-X24

Rated voltage

24 VDC +10 %/-5 %

Internal current consumption

External power supply 1: 20 mA or less, External power supply 2: 20 mA or less

Power suppl Outputs 0to 3: External power supply 1 (PWRY) | Outputs 8 to 11: External power supply 1 (PWRZ) | Outputs 16 to 19: External power supply 1 (PWRZ) | Outputs 24 to 27: External power supply 1 (PWRY)
pply Outputs 4 to 7: External power supply 2 (PWR?2) | Outputs 12 to 15: External power supply 2 (PWR?2) | Outputs 20 to 23; External power supply 2 (PWR2) | Outputs 28 to 31 External power supply 2 (PWR2)
1]
= E, Output type Source/PNP (Negative common)
§ § Connected « Solenoid valve with surge voltage suppressor of 24 VDC and 1.5 W or less (made by SMC)
S & | load « Output block*!
O o
:,')- Residual voltage 0.7 VDC or less
Rated load PWR1 (Outputs 0 to 3): Max. 2 A| PWR1 (Outputs 8 to 11): Max. 2 A |[PWR1 (Outputs 16 to 19): Max. 2 A|PWR1 (Outputs 24 to 27): Max. 2 A
current PWR2 (Outputs 4 to 7): Max. 2 A |PWR2 (Outputs 12 to 15): Max. 2 A|PWR2 (Outputs 20 to 23): Max. 2 A|PWR2 (Outputs 28 to 31): Max. 2 A
Standards CE marking
Enclosure P67
Weight 120 g
Accessory Tie-rod 2 pcs.

+1 Refer to the table below.

Model Note
EX9-OET1 Output block (For low-wattage load), Source/PNP (Negative common), M12 connector
EX9-OEP1*2 | Output block (For high-wattage load), Source/PNP (Negative common), M12 connector
EX9-PE1%2 Power block, M12 connector

#2 When using the EX9-OEP1, the EX9-PE1 must be connected to the left side of the EX9-OEP1.

Plug connector for power supply: M12 pin arrangement A-coded

5 No. Function Description
2 1 1 PWR1 24V | External power supply 1 24 V
2 PWR1 0V*3 | External power supply 1 0V
3 4 3 PWR2 0V*3 | External power supply 2 0V
4 PWR2 24V | External power supply 2 24V
5 — Not used

%3 0V signal lines of No. 2, No. 3, and the power supply for the valve on the Sl unit side are internally connected.

How to Order

EX9-PE1-[(X15

lOutput specifications
Symbol Description

Outputs 0 to 3: External power supply 1 (PWR1),
Outputs 4 to 7: External power supply 2 (PWR2)

X15

Outputs 8 to 11: External power supply 1 (PWR1),

X22 Outputs 12 to 15: External power supply 2 (PWR2)

Outputs 16 to 19: External power supply 1 (PWR1),

aze Outputs 20 to 23: External power supply 2 (PWR2)

Outputs 24 to 27: External power supply 1 (PWR1),

X24 Outputs 28 to 31: External power supply 2 (PWR2)

* Refer to page 1 for combinations.

N




EX9-PE1-X15/X22/X23/X24

Dimensions

[mm]
Power supply connector °
q LED Display
{ LED Content
N l ¥ PWR1 | Turns green when external power supply 1 is supplied
o PWR?2 | Turns green when external power supply 2 is supplied
21
Receptacle 26.7 Pin header
Solenoid valve connector Sl unit connector
() SN\ © ®
O Fowen =\ O \
} | i
J ™
o
[¢0]
@) e 8 oac @/
g O,
59.8

nfFE——

Accessories

Bracket plate/DIN rail mounting bracket

A reinforcing brace used to mount an output block or power block onto the Sl unit of the EX260 series
To prevent connection failure between products due to deflection, use this bracket plate whenever an output block or power block is mounted.

EX9-BP1 EX9-BD1 (For vocrsorooisv)
12 75
& L__— S e
< 73.6 Bracket plate
o N |

[E ‘_.¢ DIN rail mounting bracket
2 x M4 Mounting hole ﬁ -
N

U % <
o ——
‘ 66 [ 45 Accessory
Description Qty.

Accessory Domed cap nut (M4) 1

Description Qty. Round head combination screw (M4 x8) | 1
Hexagon socket head cap screw (M3x 35)| 2 Round head combination screw (M4 x 10)| 1
SMC Corporation
SMC CORPORATIONp European Marketing Centre (EMC)
Akihabara UDX 15F, 4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN Zuazobidea 14, 01015 Vitoria
Phone: 03-5207-8249 FAX: 03-5298-5362 Tel: +34 945-184 100 Fax: +34 945-184 124
SMC CORPORATION All Rights Reserved URL http://www.smc.eu

1st printing XR printing XR 00 Printed in Spain Specifications are subject to change without prior notice

and any obligation on the part of the manufacturer.



